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DE:DG=EF:FG
(AD+ AE):(AD + AB + BG) = (BE + AF — AB): (BG + BF )
(AD -+ AB —BE):(AD + AB + BG) = (BE + AF — AB): (BG + AB - AF
(b+c—a):(b+c+a)=(a+b—c):(a+c—b)
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(b+c+a)x(a+b-c)=(b+c—a)x(a+c—b)
(a+b+c)x(a+b-c)=[c—(a—b)|x[c+(a-b)]

(a+b) —c?=c*~(a-b)
2¢% =(a+b) +(a—b)*
2¢? =2a* + 2b?

¢’ =a’+b%
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a:b=c:d
ad =bc
ad +bd =bc+hbd

(a+b)d =b(c+d)
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(a+b):(c+d)=b:d.

k%% : (a-b):(c—-d)=b:d.

a:b=c:d
ad =bc
ad- bd= be

(a—b)d =b(c-d)
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(a—b):(c-d)=b:d.

W&ot B4 % ab=c:d > k& (a-b):(c—d)=b:d.



